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v'D) All firms in a given industry must be small..

9- How does monopolistic competition differ from perfect competition
A) There are more sellers in a market ¢

C) In a perfectly competitive market, products are more dissimilar.

vD) In a market characterized by monopolistic competition, individual firms have some
control over price.

(/10- Which of the following is characterized by having few sellers, similar prices among
sellers, and difficult market entry
A) oligopoly

B) pure competition
»C h—monopoly
WD) monopolistic competition

1- What is the environment where a firm conducts business known as
A) Global business environment
B) Economic environment
\/C) Domestic business environment
D) Technological environment

12- Who is the person who accepts the risks and opportunities inherent in a new business
opportunity?
A) Capital managers
L/B) Entrepreneurs
C) Human resources
D) Home country economic systems managers

13- What is the willingness and ability of producers to offer a good for sale referred to as?
A) Private enterprise

~B) Supp
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15- Which of the following does NOT fall into the degrees of competition continuum?
A) Perfect competition
B) Monopolistic competition
) Competitive advantage
D) Oligopoly

16- What is the term used to describe a market condition where buyers are able to satisfy the
demand of the consumer, yet have some product remain unsold?
+A) Surplus
B) Stoppage
C) Shortage
D) Demand deficit

17- The Chinese government controls all factors of production, the Chinese government has

which type of economic systems?
A) Capitalism
B) Socialism
C) Market
D) Communism

18- The Law of Demand dictates that as the price of gasoline rises, customer demand for
gasoline will:

A) Not be affected

B) Increase

vC) Decrease
D) Fluctuate

19- Which of the following is an example of business in a Monopolistic competition:
I/A) Local farmer

B) Clothing store

C) Steel Industry

D) Public Utility

20- What is the primary purpose of a business
A) to pay employees
B) to provide services
C) to generate revenue
D) to eam profit

21- Which of the following is an example of a business

A) Birzeit University
v/B) Bravo Supermarket

denies us access to Minerals and Water. To which factor of
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23- The nature of competition in a Petroleum industry can be identified as:
A) Perfect competition

B) Monopolistic competition
C) Oligopoly
v'D) Monopoly

24- Which of the following best explains the difference between a market economy and a
planned economy?

vA) In a planned economy, consumers have little choice in where they work or what they
purchase or pay.
B) In a market economy, consumers must pay what the market demands.
£) Capitalism is the root of a planned economy.
D) Market economies are also known as mixed market economies.

25- Ethical and unethical behaviours are determined by
A) the individual
B) the culture
V) both the individual and the culture
D) neither the individual nor the culture

26- Top managers demonstrate commitment to ethical business practices with
«A) the adoption of written codes of ethics

B) employee empowerment

C) decentralized decision making practices

D) collusion with other companies

27- Social responsibility toward employees includes
A)recruiting fairly
B)hiring fairly
C) promoting fairly
vD)all of these

28- Which of the following occurs when someone uses confidential information to gain from
the purchase or sale of stocks?
A) identity theft
B) a margin purchase
vC) insider trading
D) collusion

"éA company that provides its employees with equal opportunities for advancement without
egard to race, sex, or other relevant factors is meeting its responsibility.
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0- A key to busipess success is to decide in advance how to respond to the issues that
underlie all questions of ethics and

A) personnel complaints
B) compensatory damages

L) governmental support
D) social responsibility

31- In what way can the government use indirect regulation to affect social responsibility?
A) Enacting laws

B) Supporting shareholders
C) Imposing fines to violators
D) Providing tax incentives

32- What is the term given to the groups, individuals, and organizations that are directly
affected by the practices of an organization?
A) Primary agents of interest
B) Social auditors
C) Competitors
+D) Organizational stakeholders

33- What category of ethics relates to matters such as hiring, firing, working conditions,
privacy and respect?
A) Behavior toward economic agents
+B) Behavior toward employees
C) Behavior toward the organization
D) Elimination of conflicts of interest

34-What do ethical norms that ensure an action is consistent with what's fair entail?
A) Caring
B) Morals

C) Justice
D) Social responsibility

35- Which ethical norm considers whether a particular act optimizes the benefits to those who
are affected by it?
vA) Utility
B) Rights
C) Justice
D) Caring

36- Firms that adopt a(n) stance to social responsibility meet their legal requirements
and exceed legal minimums when specifically asked.
»-A) accommodative
B) obstructionist
C) proactive
D) defensive
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“We've never needed such a system, | didn’t
[%:9) obstructionjst
B) accommodatiye
C) defensive
D) proactive

38- Ethics refers to

True or False (12 Points)

I Physical resources are the data and other information used by businesses.

2._ " The point at which the supply curve and the demand curve intersect is the market
equilibrium. "

A3, ‘ Communism and capitalism are the two basic forms of planned economies.

4. E One of the four elements that must be present in private enterprise is reasonable
prices.

S Technology only includes electronics and telecommunications used to perform
business activities.

(S Social responsibility is an attempt by a business to balance its commitments to
groups and individuals in its environment, including customers, other businesses,
employees and investors.

7 g An employee of an organization can be considered an organizational stakeholder.

8. !_’; Collusion is an legal agreement between two or more companies or individuals to
commit a wrongful act.

9, :S Under a defensive stance to social responsibility, companies meet only their
minimum legal requirements.

10._ "\ Personal

, contacts and lobbying are considered ways that business can influence
e government

a defensive stance to social responsibility, companies meet only their
>ments. Aoz
limited intervention of the Government is characteristic of
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Multiple Choice Questions  (38Points)

1- What term denotes a nation's basis for allocating its resources among its citizens
A) capital structure

) economic system
C) ownership processes
D) distribution network

2- What is the process for converting government enterprises into individually owned firms
known as

A) production allocation
) privatization

C) entreprencurship

D) demand assessment

V3_ What is the price at which the quantity of goods demanded, and the quantity of goods
supplied are equal

A) The going rate

B) The margin rates

C) The market price
v/D) The optimum price

4- What occurs when the quantity demanded exceeds the quantity supplied
A) Demand deficit

B) Surplus
C) Equilibrium point
vD) Shortage

5- What marks the key difference between economic systems
A) The way they manage the factors of production

B) The way they transport goods within their borders

C) The way rules and regulations are legislated

D) The way workers are relocated to different regions

6- Which economic system emphasizes the private ownership of most factors of production

A) Socialism

B) Communism
Capi

ature on the latest iPhone has made it wildly popular. Which action should iPhone
e profits
e supply of the smart phone.
the supply of the smart phone.
price of the smart phone.
urrent supply until demand falls.




